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Answer1

The points P and Q have coordinates (—1, 6) and (9, 0) respectively.

The line / is perpendicular to PQ and passes through the mid-point of PQ.

Find an equation for /. L
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Mulitiply both sides by 3
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Answer 2

The line /, has equation y = —2x + 3
The line /, is perpendicular to /, and passes through the point (5, 6).

(a) Find an equation for /,.
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Answer3
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Answer4

O X

ABCD is a rhombus.
The coordinates of 4 are (5,11)

The equation of the diagonal DB is y = Ex +6 E@ VAT ION I A
Find an equation of the diagonal AC. S-Tﬂﬁr[d HT Qgg
DVixzomars O A LHomRys Mer T %;@c{-c
A~ QarThoaces f ?
4. VS
Co %fa;—; 05:@(._
{
X /-YZ-‘: " K?—
Mx =<
Year s awpicuLhe
m- -7 CaxD 1 evTs
MuLTiPy (o
AC 1,(3: ~Co> +C Guwe -1

US&A(Q((D (L= ¢S <¢C

[l = —-tOo <&
0 +10
c = I

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

EXAM PAPERS PRACTICE

Answer5

The line /, has equation 3x+5y—-2=0

(a) Find the gradient of /,.
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Answer 6
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Answer?7

The line N 1s drawn below.
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Find an equation of the line perpendicular to line N that passes through the point (0, 1).
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Answer 8

Figure 2

The line [, shown in Figure 2 has equation 2x + 3y = 26
The line /, passes through the origin O and is perpendicularto /,

(a) Find an equation for the line /,
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Answer 9

The line L has equation y =5 —2x. — é = ~22c+ S

(a) Show that the point P (3, —1) lies on L.

(A) > =3 4~ ~2x3 =S
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Answer10
o) oA
(b) oo, = -2 UkTion OFA |
SteacHTlne
So m = & (Swee wek=-) [T et
é&fd i = —2C +C f 3 /'v-
ﬂ “Chrigyn O,
s -
(7(3 ”’) FB +
’3/2. -3, 1 Yeerauicuie
c GAAD 1 ©UTS
- = C - (¢
- MuLTiPy (o
_ ) Qe -1
kb % 2 Multiply both sides T
by 2
29 ot Sl -] rearvange

For more information please visit https.//www.exampaperspractice.co.uk



https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer1l
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Answer 12

(b) Find an equation of /,.

() m =% S0 M, =2 (S“mcg ZrE - ,;) Yar? a1 ure
R QJZKO!@U’ESF
MurTPy (o

Y
PN
C
o
T
('\-.
r-‘.‘a
c S
W
)
v
A
,.‘..
£

—— afl/g —1.

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

Answer13

;=

EXAM PAPERS PRACTICE

The points 4 and B have coordinates (3, 4) and (7, -6) respectively. The straight line / passes
through A and is perpendicular to 4B.

Find an equation for /.
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rearrange

2% -5y + 14 =0
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Answer14

A 1s the point with coordinates (1, 3)

Ec QUATION o= A‘T
B is the point with coordinates (4, —1)

The straight line L goes through both 4 and B. S-?—m ’ i HT O I\fg

Is the line with equation 2y = 3x — 4 perpendicular to line L?
You must show how you got )i&ot;r\ answer. L SO
Liwe L | . f i
' uN € d% 3‘/«;;_
ALY e e
Lise
2 -) Pae? aupic yLAe
-
. “ Ga k0 1Tl
M = - Murtiry (o
G — |
Gue -1
&
p -——-—--3 —
7y = T ~ ¢ M - Rice
= ~ - (BVIN
_ W'y
% - %%‘ - " > =
2 Fot. Two PonTs
wm =~ =
z (eorw) o (o)
=

MUL_,’E((‘?L'Y TosETHEN
-3#\;(/»‘/ = =1 /‘é ~1 $So NoT ?% DeC UL
Eaa 2ot exen AL

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answerl5

The point P has coordinates (3, 4)
The point O has coordinates (a, b)

A line perpendicular to PQ is given by the equation 3x + 2y =7

Find an expression for b in terms of a.
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